
��

������������������������������������������������������������������������������������������



( , , )

( , , 0)

C

PS

r

A
B

O2

C

O1

P

r

f

A

B

����������

��



  

 

= (1)

AH = AB (2)

= = 90° (3)

= 90° (4)

= 90° (5)

= (6)

 

cos

cos 1  

   

  

  

 

( , , 0)

= =

( , , )

( , , 0)  

=

       =

=

(7)

A

B

C

H

B
A

P

(a)

(b)

C

B

��������������������

��



236 236

44 44

����������

��



��������������������

��



����������

��



��������������������

��



����������

��


